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8.3 Properties of Logarithms SO LONAONS
| DIRECTIONS: Expand each Logarithm.
1) log, 3% 2)logs * Hog3" 19
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\ogg3 * k ‘ﬁ«,?
4)logs - 5)log G2 6)InVzh ||
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DIRECTIONS: Condense each logarithm.

7)logs 6 +log, 2

8)log; 8 —logy x

2 o
= \o,ll(.(b baax \ble :i\oc\lﬂ( l
10)4Inx +1In5 11) log; 6 + logz y — logs 2 12) 3logx — 2logy —log z
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DIRECTIONS: Simplify.

13) logs 40 + log, 25.6 14) log; 812 + logg 62* 15) log, 60 + log, 12.8 — log, 6
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14)flogy—3 (x — 3)?

15) logx+2 (x + 4x + 4)* +logs 5

16) logs 27 + logz 54 —logz Z
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Solve. Express your radical solutions in the simplest form.

17) (3y)2 + 10 = —18 18) (2t +3)2+39 =3
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